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M(H) =1 g/mol . M(C)= 12 g/mol . M(O) =16 g/mol , M(N) = 14 g/mol

p( C;H40;) = 1050 g/L.




3 galll Zaall)

M?Miﬁ;yiﬂl;bﬁi&ﬂlp@#&;lﬂisM‘sM[H|JJlmE)ﬂlis)u.l
- My ¢ M (pmaiapal) (b Ay de

(04)

MM, 410,

=10,25m/s (2.56 ¢m)

"7 T 2.002
MM, 465.0,1 :
. V3='—it—4='m=l 1.6 m/s (2.90 ¢m)
MM, 56.0,1
. — = = / .5
Vs ’ 2002 14 m/s (3.5cm)
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M(NH;) = M(N) + 3M(H) (01)
M(NH;)=14+(3.1)=17 g/mol

:NH; 32 0.68 g (g s3lall 4uaS -2

m(NH,)
M (01)

0.68
n(NH;y) = 17 =0.04 mol

n(NH,) =

s omalaill ala )20 3 NHy e 15.68 L 8 s3kall 43aS -3

V(NH;)

Vo (01)
15.68
224

n(NH;) =

n(NH,) = =0.7 mol

- opallail) e 80 8 NH; (5« 8.96 L AkS 4

V(NH;) M(NH
—'m(Nll3)=( 3\),( L
M

m(NH;)  V(NH;)

M(NH;)  Vy

8.96 .17
224

(01)

m(NH;) = =68¢

- NHiy e e 32 3.01 . 1072 kS .5

MY
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M(C;H40;) = M(C) + 3M(H) + M(C) + 2M(0O) + M(H)
M(C,HO0,)=12+(3 . 1)+ 12+(2.16) + 1 =60 g/mol (01)

: Jall Gaes (30 200 mL 6 3l duaS -2

.V(C,H,0,
n(C,H,0,)= P_(ﬁ)_

1050 ._0.2 (01)

n(C,H,0,)= =3.5mol




